ΕΞΙΣΩΣΕΙΣ

· Κάνω τις παρακάτω εξισώσεις
	


1) x + 25 = 100                                   2) x – (0,5 + 4,5) = 4,5


3) (63 + 4) – x = 6                               4) x ● (7-2) = 60



5) 1/4 ● x = 3/8                                    6) (3 + 7 – 2 + 20) + x = 30


7) 125 : x = 25                                      8) x : 2,5 = 10


9) 50 – x = 20,5                                    10) x ● 9 = 270


11)  x : (40 – 25) = 4                       12) (60 – 2 ● 25) + x = 100
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Εδώ θα βρείτε το αγαπημένο σας κουίζ με εξισώσεις: 
http://users.sch.gr/gregzer/M/M-ST/%CE%95%CE%BE%CE%B9%CF%83%CF%8E%CF%83%CE%B5%CE%B9%CF%82%20-%20%CE%95%CF%80%CE%B1%CE%BD%CE%AC%CE%BB%CE%B7%CF%88%CE%B7/story_html5.html
